_ HARDER ELIMINATION METHOD Questions '35

» L. Solve these simultaneous equations by elimination: o
@ 7x+27 =38 wmd 3sy=17 0 ) 60-55=10 and 2osb=1d.

!

(©) &y +5z=~16 and y -3 =36 NG Uk =«25=95 and 7h-6k=51 )

.

(@ 89-3¢=40 &8d -2§=26 = - () 4 +7d=-3 and do-4d-

(@ 10e+3+2=0 and 9e+5-12=0 () 5£-2t-1=0 and 3%+ 5 -4
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i. Form a “az:c of smsif.az:e»ehs e**z:a‘zei.s azjl selve wﬁm 0 answer these problems:

(b} b&vaen scored 224 runs ih 2 cricket matc"u
I the sécond § nnings he scored § more runs
’*aa he scored in the first innings. How' many -
zja!z;s did SL—::p en $core in each mcﬂ?

(a} Gordaha axd Kate together invested
$2600 in a new business, If Gordana’
mvcst-*d 3 times 2§ much. a5 Kaﬁe. Bow

much did each hvec*‘?

1l

(¢) 3 books aid 7 pencils tost $10.40, , - (d) Theré ars both sh spandemising . -
wailé 8 Books and 5 pencils cost $14.75, . ,*aét‘wk Altogsther there are 94 ;»_{Aa
Zow much i§ each peacil? - 20d 5300 zw. »

qow many shésp » arg in fhe paddock?

s

LJ

tBer.  (§) 10 bolfs gnd §; ts weigh 372 @"m_s while
inm combined dges tofal 41 years. 6 bolts a.ﬁ i3 :zz.% weigh 97
ow old a::e Alice and her Brot ther? o Whaz would be £5 é combined. ezga«. Gf7
: A : po}és dnd 1 nats? ’ ' '

(@) AZCA is 2/ yea.s older than her b
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Form a pair of azzz:a’zéaz:eons e\iua‘zous and sehe tﬁam to ahsw tnes° p*oble‘ns

1
“’».,: 'a} Go dana and Kats ocva~vr mveste*’ ) bf-m:an scored 224 rins faa crwc’«:% Ewaxh
$2000 i m a new busmﬂss ¥ Co . Inthése cond Innings he scored 8 mote TUns
investad 3 times as. much as Kaw bow ’ t’za:a he scored i in the first in h.mnes “How ‘many _
much did eack invest? runs did- Suapﬁen score in each mzmzcs
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